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A" OMAAA

N, T0PaLyOVTOTOMGETE TIC TOPACTAGELG:

)y -y=yly-1)

2)  3x*—6xy =3x(x —2y)

3) 20° +2a’B? —4a’B=20>(a® +B* —20B) =2a> (o —B)?

4 xla+B) —yA(a+B) = (@+B)lx(a+B) -y |= (@+B)xa+xp-y?)
5) x> —7x*=3x+21=x*(x—7)—3(x—7) = (x—7)(x* —3)

6) 36a°—49=(6a)’—7°=(6a+7)(6a—7)

7Y x2—10=x>—+/10° = (x ++/10)(x —+/10)

8) x> —(x+y)2 :[x+(x+y)][x—(x+y)]=(2x+y)(x—x—y)
=(2x+y)(-y) =-y(2x +y)

9) ot +2a*-3=0a*—a’ +3a’ -3 =a*(a® —1)+3(a* - 1)
=(a® —1)(a® +3) = (o +1)(a—1)(a* +3)
2 2 2
10) y—+9—2y:(Xj —2.Y.3432 :(X—z;)
9 3 3 3
11) Na vmoAoyicete TV TIU TC  TOPACTOONG 996° —16 pe
TOPOYOVTOTOIN o

9962 —16 =996° — 4% = (996 + 4)(996 — 4) = 1.000-992 = 992.000



B  OMAAA

No TapayovtonomceTe TG ToPACTAGELS:

1) x> —x* =x*(x —1)

2)  2x%y+10y? =2y(x* +5y)

3) 120°B’y +9a’y —150*B =30’ (40B’y + 3y — 5a°p)

4)  Sw(x—y) —x+y=5wx-y)* —(x—y)=(x—y)[5wx—y)-1]
=(x—vy)(5wx —5wy —1)

5) 8a® —120f —10a + 15 = 4a(2a — 3B) — 5(2a — 3B) = (2o — 3B) (4o — 5)

() G) G5
6) (X 2] <[ Xe2] 22

81 49 9 7 9 7A9 7
7 X2—6=x>—/6" =(x+/6)x—/6)

8) v —(x—y) =[y+@x—-y)y-@x—y)]=(y+2x—y)ly—2x+y)
=2x(2y —2x) =4x(y —x)

9) x*=5x% +4=x" —x?—4x? +4=x*(x* =1)—-4(x* —1) = (x* —1)(x* — 4)
=(x+1)(x—1)(x+2)(x—2)

2 2 2
10) y—+9—2y:(Xj _2.¥.3432 :(X—3)
9 3 3 3

11) No vmohoyicete v Ty g mopdotoone 9952 —25  pe
TOPOYOVTOTOIN o

995% —25=995% — 52 = (995 + 5)(995 — 5) = 1.000 - 990 = 990.000
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